CARMEL COLLEGE OF ARTS, SCIENCE & COMMERCE FOR WOMEN, 
SEMESTER END EXAMINATION, APRIL 2018 
Semester: II of B.Com .                                                                                     Date:24/04/2018                                             
Subject: COMMERCIAL ARITHEMATIC-II
Total marks: 80                                                                                                     Duration: 2Hrs                               
Instructions :
i. All questions are compulsory.
ii. Figures to the right indicate maximum marks .
iii. Non programmable calculators are allowed.
iv. Graph papers will be supplied on request .

1.   Attempt the  following :                                                                                    ( 4 x 5 = 20)
a)    Show that ABC is a right angled triangle if A = (4 , 7 )  , B = ( 8 , 4 ) and C =( 7 ,  11 ) .
b)    A = ( -2 , 2 ) and B = ( 3, 7 ) are two points. A point P with abscissa 2 lies on AB . Find the ratio in  which P divides AB and the ordinate of P .
c)    Find x if  .
d)    If   f  is  continuous  at x = 0 ,  where 
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                                                  =    x  + 4  -  b                 x <  0
                                                 =   1                                 x  =  0        , find a and b .
OR

I.     Attempt the  following :                                                                                     ( 4 x 5 = 20)

w)   Find the coordinates of the point Q which divides  AB  externally in the ratio  m : n  if  
        A  =  (  2, 4) ,  B  =  ( -3 , -5 )  and  m : n   =  3  : 5 . 

x)    The point P (  7 , a )  lies on the line joining  A  ( -5 , 2 )  and  B ( 3 , 6 ). Find the ratio in which P     divides AB and hence find  a  .
y)    Find   and   if    ,   .
z)    Evaluate  :  .
2 .  Attempt the  following :                                                                                          ( 4 x 5 = 20)
a)   Differentiate   w.r.t. x  .
b)   The demand function p in terms of quality demanded is given by .  Find total revenue and marginal revenue when the demand is 4 units .
c)    A sum is divided amongs A, B and C in the ratio of  .  If A’s share in the sum 
be Rs. 2784 ,find  the shares of B and C .

d)   Find the equation of line having y intercept  -2  and perpendicular to   .
OR

II .    Attempt the  following :                                                                                       ( 4 x 5 = 20)

w)   Differentiate  w.r.t. x  .

x)    Find the extreme values of the function  +  9x.

y)    i)   The mean proportion of two numbers is 24 . If  one of them be 36 , find the other number.
       ii)   If the cost of 8 chairs is Rs. 1800. How many chairs can be bought for Rs. 3825.
z)   A  =  (  2  ,  -4  ) and  B  =  (  -1 ,  -7  ).  Find the equation of the line through ( 2 , -5 ) and perpendicular to AB .


3.    Attempt the  following :                                                                                        ( 4 x 5 = 20)
a)   Find      .
b)   A publisher sells 80 books of Business Mathematics for Rs. 6144. If the list price of the book be Rs. 96. Calculate the rate of trade discount .
c)    Differentiate     w.r. t.  x  .
d)    A company manufactures two types of Bags S : small and B : big . The raw materials and labour available per day are 60 units and 50 hours respectively . S requires 2 units of raw material and 5 hours of labour whereas B requires 6 units of raw material and 2 hours of labour.  It is observed that , however they try , the total number of  bags produced per day does not exceed 12. Solve the problem for maximizing the profit , if the profit for small bag is Rs. 50 and for big bag is Rs. 100 .
OR
III.  Attempt the  following :                                                                                     ( 4 x 5 = 20)
w)  The supply function is   . Find the producer’s surplus at  x =  5.
x)    A man donates 3% and spends 90% of his monthly income. If he saves Rs. 1750. Find his monthly income. 
y)    Solve graphically the following linear programming problem 
                          Maximize  Z = 9x  + 3y  , subject to 
                                                
                                                
z)    A manufacturer can sell x items at a price   . The total cost of producing these items is   .  Find x for which the profit is maximum.
4.   Attempt the following :                                                                                      ( 4 x 5 = 20)
a)    Find the partial derivatives of  at ( 3 , -1 ) .
b)   The adult population of an island is 27000. Out of which 54% were males. If 80% of the males are married, find the number of unmarried females in the island .
c)   If the demand law is    , find the elasticity demand when p = 3. 
d)   If the Marginal Revenue Function for a certain product is , 
      find the Revenue function and  Average Revenue when x = 10 . 
OR
IV.  Attempt the  following :                                                                                  ( 4 x 5 = 20)
w)   For the cost function C ( x , y )  = for two commodities X and Y, find the marginal costs at x = 1 and y = 5 .
x)  i)  The expenditure on food in a family was Rs. 1240. It increased to 1674. Find the percentage increase in expenditure on food.
      ii )  Divide Rs. 4160 in the ratio 8 : 5 .    
y)   Find    , if  .
z)    Evaluate  :    .
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